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QUESTION 1

How many of the arrows in the exhibit must provide values before the round-cornered rectangle can start?

A. none
B. one
C. two
D. three

Correct Answer: D

QUESTION 2

In the exhibit, which use cases must be available to meet the goals of Actor X when it initiates Use Case A? ose 2)

Actor

Use Case
[ B]

A. Use Case A
B. Use Case B
C. Use Case C
D. Use Case D

E. Use Case E
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Correct Answer: AB

QUESTION 3

What are the association end names in the exhibit?

order =«
Ferson QOrder

T customer

A. Person and Order

B. customer and Order

C.land*

D. 1, *, customer, and Order

E. 1, *, customer, order, Person, and Order

Correct Answer: B

QUESTION 4

What are metaclasses?

A. classes that are abstract

B. classes that have no supertypes

C. classes whose instances are objects
D. classes whose instances are classes
E. classes that are instances of classes

Correct Answer: D

QUESTION 5

What does it mean when a classifier rectangle is labeled as an ?

A. The list of all public and private features is provided.

B. The classifier is an iterator for traversing a collection.

C. The list of all public and private structural features is suppressed.

D. The classifier is a data type whose values are possibly listed in the bottom compartment.
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Correct Answer: D
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